
SAP ABAP table RESCC_ACCFIRM_COST2SCK_X {Settlement Company: SC Key per Cost Element and Add.Flds(TIV}

RESCC_ACCFIRM_COST2SCK_X

SKABRF [CHAR (3)]

SKSTSCHL [NUMC (2)]

SNKSL [CHAR (4)]

TIV05

MANDT [CLNT (3)]

SNKSL [CHAR (4)]
 RESCC_ACCFIRM_COST2SCK_X-SNKSL = TIV05-SNKSL 0..N

1
TIV50

MANDT [CLNT (3)]

SKABRF [CHAR (3)]

 RESCC_ACCFIRM_COST2SCK_X-SKABRF = TIV50-SKABRF 
0..N1

TIV51

MANDT [CLNT (3)]

SKABRF [CHAR (3)]

SKSTSCHL [NUMC (2)]

 RESCC_ACCFIRM_COST2SCK_X-SKSTSCHL = TIV51-SKSTSCHL 

0..N

1


